CIE%I1SO15552fR S AL

Cl Series 1ISO15552 Standard Cylinder

2;; 51050 .
17983 Ordering Code
Cl - 50 x50-25 - S - LB - FK - MT
EERR Fixed Type
. PSRt
Rod End Fitting Type
=H: EARR
— WAES Magnet Code  LB: FIlREIZEE l
14 Bore l FA: BIEEIEE(FIiE=S) ZSp: EAR
FB: BEEEE (=) |- 1gzsL
B 23[9 FRER CA: GBI (B HIR) Y- YiEsL
772 Stroke S: WERTR CB: R&EEER (WEIR) FH: @Bl
Blank: Without Magnet ~ TC:FRiEERIE= FK: ZahfEsk
. S: With Magnet SDB: [F=EER(HEF) Blank: Basic type
IS Series Code Blank: Basic type I: | fitting
l LB: Front & back fixed type v y fitting
FA: Front cover fixed type FH: Bearing fitting
Cl: 1S06431 trEEnaY (Front flange type) FK: Floating fitting =47
CID: ISO6431 tRESGHE R EL A[A{752 Adjust Storke FB: Back cover fixed type Cylinder
ClJ: ISO6431 S TiE A @R l (Back flange type) e
Cl: 1ISO6431 Standard Double CA: Back cover fixed type AR Sensor
Action Type 25:25mm (Single earring) l
CID: 1ISO6431 Standard 50:50mm CB: Back cover fixed type
Double-shaft, Double Acting 75:75mm (Double earring) i\tg:g’} EHT&FF*
ClJ: ISO6431 Double-shaft TC: Central trunnion type magn;ism switch
With Adjustable Stroke SDB: Back cover fixed type

& Specification

P72 Bore (mm) 32 | 40 | 50 | 63 | 80 | 100 | 125 | 160 | 200 | 250 | 320
1EEI/Motion Pattern £z78 Double Action

T &/ EE/Working Medium =5 Air

EER = /Fixed Type EAE/Normal type FAZEY/Type FBEY/Type CAZEY/Type CBEL/Type SDBE!/Type LBE/Type TCE/Type
fEFEIISEE/Working Pressure Range 0.1~0.9MPa

{RIEfEF/Ensured Pressure Resistance 1.35MPa

R ESEE/Operating Temperature Range 0~70°C

R ESEEl/Operating Speed Range 50~800mm/s

& E=/Buffer Type AIAL % /Adjustable Buffer

48 917%2/Buffer Stroke 20mm ‘ 26mm 45mm | 52mm | 66mm
& N1Z/Port Size G1/8" G1/4" ‘ G3/8" ‘ G1/2" G3/4” G1"

78



CIEF1S015552h R HES T

Cl Series 1ISO15552 Standard Cylinder

1772 Stroke

HE TETRE =ATEE BIFTIE
Bore (mm) Standard Stroke Max.Stroke Permissible Stroke
32 25507580100 125 160 175 200 250 300 350 400 450 500 1000 2000
40 2550 7580 100 125 160 175 200 250 300 350 400 450 500 600 700 800 1200 2000
50 25507580100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1200 2000
63 25507580100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
80 25507580100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
100 25507580 100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
125 25507580 100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
160 25507580100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
200 25507580 100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
250 25507580 100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
320 25507580100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
PIEBLAH Internal Structure
Fs BIR S BIR
NO. Designation NO. Designation
CIRs = ) 1 JEZEFTIREF Piston Rod Nut | 10 7EZE Piston
b G\ 2 JEZEHT Piston Rod 11 fifEE#R Wear Ring
Qm_ 3 BIEEIE 12 Bk (A1)
—‘ Front Cover Seal Ring Magnet (Optional)
4 OZYF O-ring 13 TRZEORLE Pistion O-ring
- Nz 5 &% Bearing 14 | #E20%E Pipe Wall O-ring
(j q @ e 6 Bis Front Cover 15 22)h{Kx Damping
e s ; E ORI 16 KRR
Vi 8 &/ 1J L1 v \is Buffering O-ring Hex Socket Screw
8 | JEZEHF Piston Rod O-ring | 17 &% Back Over
9 &If3 Barrel
SIS 3R Cylinder Theory Output
SERE EEFIME iRt 52 EERR ZSEH Air Pressure (Kgflcm?)
Cyllnder Inside | External Diameter Motion Pattern Compressmn
Diameter of Piston Rod Area (cm?) 1 2 3 4 5 6 7 8 9
M Press Side 8.04 8.04 | 16.08 | 24.12 | 32.16 | 40.20 | 4824 | 56.28 | 64.32 | 72.36
82 12 Hifll Pull Side 6.90 6.90 | 13.80 | 20.07 | 27.60 | 34.50 | 41.40 | 4830 | 55.20 | 62.10
40 16 JEMI Press Side 12.56 12.56 25.12 37.68 50.24 62.80 75.36 87.92 | 100.24 | 113.04
Hfl Pull Side 10.55 10.55 21.10 31.65 42.20 52.75 63.30 73.85 84.40 94.95
50 20 M Press Side 19.63 19.63 | 39.26 | 58.89 | 7852 | 98.15 | 117.78 | 137.41 | 157.04 | 176.67
Fifll Pull Side 16.49 16.49 | 32.98 | 49.47 | 65.96 | 82.45 | 98.94 | 115.43 | 139.92 | 148.41
JEM Press Side 31.17 3117 | 62.34 | 9351 | 124.68 | 155.85 | 187.02 | 218.19 | 249.36 | 280.53
63 20 Hifll Pull Side 28.03 28.03 | 56.06 | 84.09 | 112.12 | 140.15 | 168.18 | 196.21 | 224.24 | 252.27
EM Press Side 50.26 50.26 | 100.52 | 150.78 | 201.04 | 251.30 | 301.56 | 351.82 | 402.08 | 452.34
80 25 SR | s Pull Side 45.36 4536 | 90.72 | 136.08 | 181.44 | 226.80 | 272.16 | 317.52 | 326.88 | 408.24
100 25 Double M Press Side 78.53 78.53 | 157.06 | 235.59 | 314.12 | 392.65 | 471.18 | 428.82 | 628.24 | 706.77
Action Hfll Pull Side 71.47 7147 | 142.94 | 214.41 | 285.88 | 357.35 | 428.82 | 500.29 | 517.76 | 643.23
125 32 Ef Press Side 122.72 122.72 | 245.44 | 368.16 | 490.88 | 613.60 | 736.32 | 859.04 | 981.76 | 1104.48
Hifll Pull Side 114.68 114.68 | 229.36 | 344.04 | 458.72 | 573.40 | 688.08 | 802.76 | 917.44 | 1032.12
160 40 EM Press Side 201.06 201.06 | 402.12 | 603.18 | 804.24 | 1005.30 | 1206.36 | 1407.42 | 1608.48 | 1809.54
Hifll Pull Side 188.49 188.49 | 376.98 | 565.47 | 753.96 | 942.45 | 1130.94 | 1319.43 | 1507.92 | 1696.41
[EM Press Side 314.16 314.16 | 628.32 | 942.48 | 1256.64 | 1570.80 | 1884.96 | 2199.12 | 2513.28 | 2827.44
200 40 Hifil Pull Side 301.57 301.57 | 603.14 | 904.71 | 1206.28 | 1507.80 | 1809.42 | 2100.99 | 2412.56 | 2714.13
£ Press Side 49060 9812 | 14718 | 19624 | 24530 | 29436 | 34342 | 39248
220 e Hfll Pull Side 47100 9420 14130 | 18840 | 23550 | 28260 | 32970 | 37660
320 63 JEM Press Side 80384 16077 | 24115 | 32154 | 40192 | 48230 | 56269 | 64307
Hfll Pull Side 77268 15454 | 23180 | 30907 | 38634 | 46361 | 54088 | 61814

79



CIE%1SO15552R S AL

Cl Series 1SO15552 Standard Cylinder

A+{7#2(Stroke)

B C+17#2(Stroke) as

E B G G oT

H 2-48 iR (Buffer nut !
. iy e sThe

> fa) | mr@ Kf\
I = S QIS S
K/ w 2o/l || K ®

4TE1E(Side's Breadth) | | 8-L
— QIN
A1+{T12(Stroke)x 2

B C+{7#2(Stroke) B+{T#2(Stroke) 0s

E F .o .G F E+{712(Stroke) |-—C:l——’
CID H 2450 48 #R(Buffer nut) x

/ © ©

J J \L/
>I ] g 122 I D?tq? 2 >] k&)/ i—

e z
5 g)ﬂ_m 0-1 a Vol
/ / 20/
AT 18(Side’s Breadth) L __]
N|Q QN

A2+1732(Stroke) X 2+7] #§{7#2(adjusted stroke)

B C+17#2(Stroke) 1712

©
8-L
os
E E G G F (Stroke) r%ﬂl
H 2-48 4R 1A(Buffer nut)
ClJ —
o @é ©
= i Ho T R

L ]
21 Q 4 Q N 3
2L ERENi RIPENE 3T S
= 5 =<} g
K/ W 2-0, | eI Adusted sroke) @
ATEIE(Side’s Breadth) - | | Bl
NQ QN

—
R~FZ Dimension Sheet Cyﬁrﬁer

M1 Bore A A1 A2 B C D E F G H | J K

32 142 190 187 48 94 30 28 16 27.5 22 17 6 M10x1.25
40 159 213 207 54 105 35 32 18 29 24 19 7 M12x1.25
50 175 244 233 69 105 40 42 25 30 32 24 8 M16 x 1.5
63 190 259 250 69 120 40 40 24 SiES 32 24 8 M16 x 1.5
80 214 300 286 86 128 45 53 30 35.5 40 30 10 M20 x 1.5
100 229 320 308 91 138 45 55 32 36 40 30 10 M20 x 1.5
125 279 398 372.5 119 160 60 74 45 46 54 41 13.5 M27 x 2
160 332 484 448 152 180 65 94 58 50 72 55 18 M36 x 2
200 337 514 472 157 180 75 100 57 50 72 55 18 M36 x 2
250 389 - - 189 200 90 122 67 54 84 65 21 M42 x 2
320 436 - - 216 220 110 126 90 65 96 75 24 M48 x 2
1 Bore L N (0] P Q R S T V W Z
32 M6 13.5 G1/8" 4 7.5 7 47 32.5 12 10 21
40 M6 16 G1/4" 6 8.5 9 53 38 16 13 21
50 M8 15.5 G1/4" 8.5 7.5 7.5 65 46.5 20 17 23
63 M8 16.5 G3/8" 7.5 8.5 9 75 55,6 20 17 23
80 M10 16.5 G3/8" 11 8.5 13.5 95 72 25 22 29
100 M10 18.5 G1/2" 13.5 9.5 14.5 115 89 25 22 29
125 M12 23 G1/2" 14 12 14 140 110 32 27 35
160 M16 25 G3/4" ilis 12 20 180 140 40 36 40
200 M16 25 G3/4" 15 12 20 220 175 40 36 40
250 M20 31 G1" 18.5 5 40 270 220 50 46 -
320 M24 31 G1" 35 10 35 350 270 63 55 -




	德捷catlogue-2021 78
	德捷catlogue-2021 79
	德捷catlogue-2021 80



